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����� )�
� �� �����  ������ ��������� ���� ����   kg/m !""" =#$ ρρρρ �  
kg/m % /! =�'( ρρρρ����)* �+��� (  

  

��	  �� �-�� .���� �* ����� .���/ ��0* ��1 ��'2��� ��3 ���� :  
2 2 2

6 15 3 2 3= + + = + + = +; ;u xt y z v xy t y w ty  
�5*�� ��56� �� �� �-��  ��789� �* �� m)   �% �: ( .��1 ��s ! = t* � ��� ����$ . �� �-�� ���6�

��6< �56� =��>���   
  

��
  * ����� .���/ ��0*�� �-�� .����� ��1 ��'2��� ��3 ���� :  

2 2= −
r

ˆ ˆV xti ytj  
�5*�� ��( #�83  ���?/ ��  ��(x � y  �z *� ����$ ��� .�56� �� �� #�83 � �-�� ����6� �                  

m ! = y = x.��1 ��  s ! = t* � ����$ ���.  
��
�:  


xt�+x
 = ax  �  

yt�+y
� = ay  � m/s ��/
   �  


m/s �
/�  
  

���  �� �-�� .���� �* ����� .���/ ��0* ��1 ��'2��� ��3 ���� :  
2

3= + +
r

ˆ ˆ ˆV yz i xzj yk  
�5*�� ��(��?/ #�83 ���*   ��(x � y  �z *� ����$ ��� .  

  

���  @*�5� ��1�� 
� �� #$ �-���5*�� A�'B C�3  ��� ��3 .��* C�D �:  

( )2

2

1 0 5
=

−

r t ˆV i
. x L

 

�* �1�� m : = L � LE/" = x�  s   = t �#�83 ����6�   � �FG�
#�83 �� �� ���68�� ��1�� �'G� ���8��* � ����$ ���.  

��
�:  

m/s ��/�     �  


m/s ��/��    
  

���  ��8��� �* �H ��* C�'B 
� �� I���1$ J�H 
� ���3 K�L�� ���� �� .���   ���6� �H �(�
 �-�����8�� ����H �'G� .$ �����* �� ) �56�  �MC�3 �� (�5*�� 1�   ��0MB C�D � �� �NH:  

  

( )
0

3 3
01

= −
−

U
u

r x
 

 
 
 
 

  
  
  

 .$ �� �HU0C�'B �� ��* �-�� ��* � r0O�03   � ��Hx��H PH�� �B �F2�Q � �� .�5*��  ���* �����6� 
�83#  �'(��8��� �� �56� �� �'G� ���* �F2�Q  � x )M(* � �������$ .  

  

m : = L 

x 

r0 M U0 

x 



�5*�� ��(���� .���/ ����)8��  165 

���  ��'� �� .���/ �*� ���6�  �5R �* ��mm E"" �*��* s/ m  E/"���  . ���6��-�� �< A�'8� 
>��� �1����  

��
�:  m/s ��/	  
  

���  ��'� 
� �� �-�� S�1'B ����� � ��  O�03 �* C�3R��� ��3 ���� ��1 ��'2 �* :  
2

1
  
 = −  

   
max

r
u u

R
 

  

 �H .$ ��umax  �� �TH��U �-���'G���'�   �r 1� �F2�Q �'G� ��� ��'� .�-�� ���6�  A�'8�
V
U�* umax >��� ��6<  

  

���  ��'� 
� �� �-�� S�1'B ����� � ��  O�03 �* C�3R��1 ��'2 �* ��� ��3 ���� :  
1 9

 
=  

 
max

y
u u

R
 

 .$ �� �HumaxU �-�� � �TH����'� PH�� � � y���'�� 1� �F2�Q  ��� ��'� � .A�'8� �-�� ���6� 
 V
U�*umax >��� ��6<  

��
�:  umax   
  

���  �'(��'� ��   �5R �* ��mm %" A�'8� �-�� �* m/s !%��� .���/ ��  .����U �/�� =�� �� 
.���/ °C!E ���Q � kPa !%"���  . ���/ �*� ���6�>��� ��6< ��'� ��  

  

 � �	�� � �� ��  �GW2 �� =�* ���� .���/  X�- �* ��)Y( �m E/"�-�� C�Q��Z �����  

�* �� ��1 ��'2 �3�*:  

0 0

2 1
 

= − 
 max

V n n

V n n
 

 .$ �� �Hmm E" = n0 � m/s ! = Vmax���  . O�WB�� �* �056� �� A�'8� �-��n0 >��� ���6� �<  
!(    m/s           %(    m/s             

 (     m/s           :(    m/s          
��
� :  ����  !) 
(  

  

 � �		� � �� ��  *�� C�3 ��� �* �1�� S56� [5� ��  1� �5\ �']%
m "%/" = A�*                    

%
m ""E/" = A�� I(�H  �*�� .�B�'2��  .���/ �*� �Hs/ m ":/" #�83 � �FG� #�83 ��3�* 

umax 

r

R 

% 
 ! 

  
 ! 

^ 
 ! 

  
 % 

�� 

�	 

Vmax 
n n0 
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*�/� �/��F2�Q �� ���68�� �� �  �cm !" 1� _NB O��3 >��� ��6< �1�� ���3  
!(     �FG� #�83= " ���68�� #�83 � = %s/m ^`/E.  

%(    �FG� #�83 = %s/m !: ���68�� #�83 � = %s/m ^`/E.   

 (     �FG� #�83= " ���68�� #�83 � = %s/m !:.  
:(     �FG� #�83= " ���68�� #�83 � = ".  
  

��	
  ��'� �� #$ �5R �* �� m !��� .���/ ��  .=��* �-�� �a�Q S�1'B  �� �-�� �H ��� ��'�
��'� �'G� ����� I(�H CR��U ���6� �* ����/ �� � �TH��U  �*�� . �TH��U �-�� ���m/s E �-�� � 

 CR��Um/s   ��3�* >��� ��6< ��'� �� .���/ �*�  
��
�:  s/

�
m ��/
  

  

 � ��	� � �� ��  ��'� 
� ��  �*�b S56� [5� �* �6Q� �`/" S*���8� cH��B ���� 
�  �� ��dZ��

��� .���/ .�F2�Q 
� �� ��� ���eB .��1 �* ��'� ���B�� �� .���/ �*� ��B'H ����1   1� �����eB � �NH
�5*�� �� ��0MB ��1 � �NH:  

( ) 0 8 0 008= +Q t . . t  
 .$ �� �HQ V
U�* s/ m � t��� ����b V
U�*  .�B�'2�� �� .���/ S]�6� �� �-�� S�1'B �H �\�'N

 .��1 �� ���� ���D #�83 ����� X�Qs !" = tK��H �*��*   ���-� 1� 
� ��1���>  
!(  "!/"����b ��dL� �* �8�     %(  "`/"����b ��dL� �* �8�     

 (  ``/"����b ��dL� �* �8�     :(  ""`/" ����b ��dL� �* �8�   
  

��	�  �-�� �a�Q S�1'B �* �F�58
� ���L� 
� �� �'(�*  �� C�3 ��'2��3 ���� .�� .���/ 
����. X�- ��� ��L� m `/"* �� ���/ �*� � A�'8� �-�� ��*� ����6� ��3�* �  �������$.  

  
  
  

  

��
�:  �
m/s �  �  m/s �  �  kg/s �
/�  

  

��	�  ��� ��3 ���� ��1 ��'2 �* ��'� f� �� �'( .���/ ���* ����U �/�� � �-�� S�1'B:  

 
2

1
  
 = −  

   
c

r
v u

R
    &  

2 4
1 1

1
2 4

    
 = + −   

     
c

r r
T T

R R
 

.$ �� �g v � T �����U �/�� � �-�� ����6� r ���'� Pg�� �B �F2�Q R h���� � ��'� O�03 c �* i'*�� 
�1���� ��� ��'� Pg�� �� ��e8� � .�5*��  ���* �����/ �*�* � ����$ ���.  

cm :"  

%m "%/" = A 

%m ""E/" = A 

m E/"  

m E/"  

m/s !"  

��'] S56�  

y 

�a�- S56�  

m `/"  
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��	�  ���'8�� �� =�* ��jQ �� �'( .���/ Pg�Y���G8� ���� ���R�*  .�\ � �F\�� O�03 �/�
���'8�� �(�*   �*��* V�B�BE/!k � `/E"�F��  ��� �8� . .���/ ��'G� �-��)v (Q ���F2� 8� ��( 1� ���W
 Pg��)r (�1���� ��� ��3 ���� I��Y� ��1 ���/ �� � ��3 ���� .* �� ���/ �*� ���6�� ����$ ���.  

  

r (mm)  v (m/s)  r (mm)  v (m/s)  r (mm)  v (m/s)  
E/!k  "  ^/%"  :/:"  l/:"  !/:"  
%/!`  "/%!  "/%"  `/:!  E/:   E/ `  
k/!`  l/     /!l  E/:%  "/:^  "/ ^  
 /!l  ^/ E  `/ "  `/:%   /:k   / :  
"/%"  `/ ^   /    ^/:%  ^/:`  l/ !  
^/%"  l/ k  `/ E  !/:%  `/:l  :/%k  
l/%!   / l  :/ `  :/:!  `/E"  "  

��
�:  kg/s ��/� 
  

 � �	�� � $� 
�  ��'� ��  �A � B.�
�� �*� ����� �N8
(  .��'� �5R ���  �A��'� �5R �*��* ��  � 
B��'� �� �-�� ��3�*   �A��'� �� #$ �-�� �*��* �N<   �B>�'* �(�'\   
!(  %E/"�*��*       %(  %�*��*          (   �*��*       :(  :�*��*    
  

��	�  ��'� �� �'( ���6Q� �5R �*  mm  ""���� .���/  .
.���/ ��79��  �� S]�6�)! ( �)% (�3 ������ .��� C 

3m��� �� .�'8� �-��m S56� �� A)!( * ��� ���$ ���m�.  
��
�:  m/s 	/��  

  

��	�  �GW2 ��� 1� #$ .���/ �� X�- �* m E/!�� �'M-  �Ng .�GW2 =�� ���8*� ��] S56� )a-d([� 
 pgC9F98����  . �� #$ �-�� ����� S56�)a-b(  �K�)N(  1� �'M- pgC9F98� ] S56�)a-d([ 
�'Nq���� �\ . S56� �� �-�� S�1'B)c-d(��� ��1 Cq3 �* :  

  
  

1 5

3 2
   

= −   
   

.
u y y

V δ δδ δδ δδ δ
  

  
  
  
  
 

.$ �� �g m/s   = V�  mm E/! = δδδδ ���.�*� ���6� ���/ ��  S56� �� bc* � ����$ ���.  
  

 � �
�� � �� ��  �1�� ���� ��'� �� 1� C�3 � C78� * r��\ � ���� ��3 ���� .��� .P9� �
�� ���� .U ��K��H ��3 ���� .��� ��� ���M- 1� 
� U ��*��H ��'� �� ��1 ��( .'��R ���* ��8NH cL

 >�
�� [�G2 �)8�'�Z)Nsys �c8
�� �� ��2�\ ηηηη �K�/ �U�� �� ��2�\ v � �-�� ∀.���  ��N(�  �
��� cLU(  

  

  

u 

mm/s %/"  

m/s    b 

a 

c 

d 

  C9F98� pH  

�GW2  

mm  ""  

kPa ^l" = !p 

K  "" = !T 

)!(  

kPa !%k = %p �K %E% = %T  
m/s  %" = %V 

)%(  
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!(  " ≠ Nsys  %(  " = sysdN

dt
   

 (   " ≠ ∀∫
CV

d
d

dt
ρρρρ :(  " =  ∑

rr

CS

v .Aηρηρηρηρ  

��
� :  ����  !) �(  
  

��
	  �*� �* ��'� �� A�'B #$  ��(%" � !" �8�� 
���'8�� .P9� ���� ����b �* �� �� ���� . #$ O�WB�� ���

��'� �� A�'8� �-�� ���6� ��3�* �*�b .P9� ��  �
 �5R �* �/��\mm %""]  S56�) [(��NH �M��G� �� .  

  

 � �

� � %� ��   #$�-�� S�1'B �* s/m]
%

)R/r(−![:/" = zV��'� ��  �5R �* �� cm ^ .���/ �� 

��� .�8�
��� ���  #$ � 
kg/m !""" �N< #$ ���/ �*� ��3�* kg/hr>�'* �(�'\   

!(  E^E%      %(  k/%" :         (  " :/%    :(  E^E/"  

��
� :  ����  !) 
( 
  

��
�   �*� �* #$ 
m/s  /" ���� ���L� 

8
��F�5 C�3 �'] �* m  /" �� �'3 .�M��/ [5� �� 

 �� 1� ��� ���� ��dZ��D'W� ��L� =��[5� �d� #$ �)�� 
�� NHm�.5� �� mm[�M��/ * m���mB �* #$ ��m�1'm S�-��  

�Ym?� �3m ���� C�� ��L� �'3 .�Q�] 1� #$ ��)�� 1�  �M��/ s'5� 1� ���S�1'B �* ���NH 1� �5\ 
��L� �� r��\ �'3.6� �?8�� �/� �� .���/ A�'8� �-�� �������L� �yV>��� �1���� �< �  

  

 � ��
� � %� 	�   �YLU �*� �* �*$s/ m  "��'� ����   �! 
�� ���� .�$ ���*��'� �� #$ ��  �% �* ���0� �8-�� ����� : �*��* 

��'� �� #$ �-��  �!��'� �5R ��3�*   �! �5R �*��* �N< ��'�  �%>���   
!(  :/!      %(  %/!       (  %      :(  :  

��
� :  ����  !) �( 
  

��
�  �� 
� �� cH��B ���� .���/ ��(�� ��dZ��  ���R�*
��� .��'� �� �*�  �A � B�*  1� V�B�B �5*��  ��(t"!/" = QA �  

%
t""E/" = QB�0MB m� �� �NH .�'� S56� [5� ���m�  �C* m*��m�   
 %m "!/"  -�� ��3�*��'� �� .���/ #�83 � A�'8� �  �C�� ��   .��1s ! = t* � ����$ ���.  

��8NH cLU 

m/s E = %V 

%m %/" = %A 

 kg/m % = %ρρρρ 

m/s !" =!V 

%m !/" = !A 

 kg/m   = !ρρρρ 

)!( )%( 

L/s %" = %Q )%(  

 Q 
) (  

L/s !" = !Q )!(  

t/u  m 
/s 

s/ m E/"�'] �U�� ��   

s/ m  /"�'] �U�� ��   

y 

z 

%m !/" = A 

Vz = ay2
+by+c 

? = Vy 

QA 

QB 

A 

B 

C 

!D 

%D 
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��
�   �*� �* #$s/ m !/"��'� 1�   �A=v�� �   w'79� .1� �*`/" �* 
 �*�s/ m " /"��'� 1�   �B �� .P9� ���� ���� .���� �� �( ����cg��B  ��dZ�� 

Y( i'F9� f� � �N3�*=)=v�� ���D 1� Cq�8�  C�q�B #$ �� ��N(� 
�� i'F9� ���)< � �*� ���6� ��'� 1� �g  �C�� r��\  �'3�* � ����$ ���.  

��
� :  s/
�

m 	�/�    �  �
kg/m ���  

  

��
�   �*� �* #$s/ m !/"Cq�� �   )`/" = SG ( �*� �*
s/ m  /"f� ��  ��  �(��yx �� i'F9� �)��Y( �* Cq3 ��'3. 

�< Cq�� � #$ i'F9� ���)< A�'8� ���6�  ���6�>���  
  

 � �
�� � %� ��   �-�� �* #$s/m `��'� �*  �* �� �5R m  /" 
 �'] �m %�� ����  �'3 .����Y�R�* � ��'� ��?8�� 1� #$ 1� ��9*  .$ �

���'�� ��� �'/'� dQ�N� 1� �� r��\ ��'� � �'3 . �-�� ��N�� X�Q �*
�* ���'�� 1� #$ r��\ \ ��'2m�5] (x/L)%U:/" = U[�eB mNH ��m� �  

� �5*�� =�� �%U�-��  ���'�� 1� �/��\ ���/ �*� ��3�* ��'� ��?8�� 1� r��\ �� ��6< >�3�*  
!(  `l����b �* K��'F�H     %(  :k^����b �* K��'F�H   
 (  E^E����b �* K��'F�H   :(  ^E:����b �* K��'F�H   

��
� :  ����  !) 
(  
  

��
�  ���'8�� c
/ �� �5R �* mm !^" �-�� �* 
m/s  /"� �� �'G� ���8� 
� .��6B �5R �* ���'8�� 
mm%""��� i'6� ��U��  .A�'8� �-�� ���6� 

���'8�� c
/ y��]� ���� �� * ��� ����$ ��� .  
  

����   �-�� �* ���Y�Z�'(km/hr lk! �� 
��� �g�U . �'B'� ����� S56� �U�
�

 �Y�Z�'(] S56�)! [( �*��*%
m `/" ���'( ���)< � 

�� �'B'� ���� �g  �'3 �*��* 
kg/m k ^/"��� .  

 �/��\ S56� 1� �g �'B'� C\�� �� z��8U� 1� �3�� �/��\ 1�� �-��] S56�)% [(�� �'M- �'B'�  �Ng
 �*��* �*�b ��{�� ������ 1�km/hr !"E"���  . �*��* �/��\ S56� [5�%

m EE`/" 1�� ���)< � 
 �*��* �/��\ 

kg/m E!E/"���  .B �� �Y�Z�'( �Q�7� �\'� ���6���Ng =��0.  

��
� :  kg/hr �	��  

mm !^"  

mm %""  

m/s  /"  

A 

#$  

=v�� 

B 

C 

i'F9�  

#$ 

Cq�� 

 #$ i'F9�

Cq�� � 

%U !U 

 

km/hr lk!  

)! )%
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 � ��	� � �� ��  �� �g�U ��* �Y� �* ��NF�� C\�� .'8
�Z �Ng  . ��8Ng cLU)∀ ( ���� .���
 Cq3 �� ��3)=�< �56� (�� ���eB .'8
�Z �g�U �* �1�� .$ C\�� �� � �Ng ���� ���R . �g ��(� .���

�N�P� 1� f����g �'/'� ��0a� ���* ��( ��� [�G2 ��1 )ρρρρ ����)< t �.��1 V��-��  n  ����*
�q�  �[5� �cv ���8Ng cLU cs��8Ng s'5� :(  

!(   ���6�( ) 0

cs

V .n =∑
r r��� �W2 �*��*  .  

%(   ���6�
cv

d
d

dt
ρρρρ ∀∫��� �W2 �*��*  .  

 (  ��� �����Z .���/ ��8Ng cLU C\�� .���/.  
:(  Ng cLU C\�� �� 1�� ���)< ���6��Y� ����eB .��1 �* ��8 �Ng.  
  

���
  �GW2 ��  �5R �* f
�� Cq3 �* D �-�� �* V �* 
f��P� �)��Y( �� ��'3 .�0R'� �F2�Q �g  �*��* �GW2 �� �h 

=�* 1� �g ��  �'( �-�� ��'3  1� �-�03 �?/ �� �GW2 ��
 S56�)! (�� r��\  �'3)!V(�* � V
UV �h  �D�*   ���
����$ .-�� �g ��Ng X�Q��� �\�'Nq� S56� �� .���/ �.  
��
� :  h%VD/ = !V 

  

����   �*� �* #$s/ m !`/"��'� 1�   �)! ( .P9� ����A �'] �*  m E/! X�- � m E/!��  ����.  
�*� �* #$ �h|� s/ m !E/"1�  ��'�  �)% ( .P9� ����B��  ���� .

#$ [5� ���  .P9� ��B�*   �-��mm/s ^"�NH �Q�  ���6� �
��'� �*� �)  (>��� ���6� �<  .P9�B�'] �*  m E/%X�- �   

m E/!���  .O�WB�� }�� ���6� !h��Ng �M��G� �� .  
  
  

  

����  #$ .P9� pH ���U�
� �* %
m !/"� ��1�� �� ���R 

���� .�����'��  .$ �P�� 
�   ���� #$ .$ 1� �H ���� ���R ��'�
.P9� �� ����.1� �H #$ �\�'N�� �-��  ��1�� r��\ 

�� 3m�'��5*�� 1�  �=V gh2 2* � ��� �m� �$m� �H .$ ��h  

 �( �� .P9� #$ O�WB�� �+G� ��� ..P9� �� #$ O�WB�� �~9�� ����1 �� m ! = h }�� �* � ��� 
mm/s !"��� I��PQ� ��U ��  . #$ �-�� ���6�� ��'� ����� !V �* ��� ����$ ���.   
��
� :  m/s �/�   

? = !V 

%
m "%"/" = !A %m "%E/" = %A 

%V 

m ! = h 

%m !/" = At 

��NF�� 

��8Ng cLU 

.'8
�Z 

h 

V 

V 

D 

)!(  )!(  

%h 

s/ m !`/"= !Q 

s/ m !E/" = %Q 

=?  Q 
A B 

 m E/%  

!h 
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����  9��TFT� S56� �* #$ .P�*�b X�- �  ��(��� Cq3 �� 
�� ���� .�* #$�*�  L/s !"" = Q �� ���PQ� .P9� =�� �* ���� .

�5*��  ���* ��dh/dt* � ���.$ �� �g ����$  hWB�� mO�  .P9� �� #$  
 ����� �+G� �( .1� #$ O�WB�� �B ���g �(�'\ �'] ����1 ��� �<  m "/! = h �* m %/! = h���* >  

  

����   �-�� �* #$m/s %/ ��'� @��] 1�   �)! (.P9� �������'8��  �� �* �5R m ^"/" ��  ���� �* �
�-�� ��( m/s E/! � m/s `/!�*  ��'� 1� V�B�B ��( )% ( �) ( r��\ �� ���� .��'�  �): (f� ��'� � 
��'?B �5R �* mm ^"  1� �g ���� r��\ �'( .$  ������ .P9� �m� ���� .�*#�98��  �* .P9� N-m.�' cLU  

  ���6� ���8Ngdh/dt* �� � ��� ����$ �g  .$ ��h 
��� �+G� �( �� .P9� �� #$ O�WB�� . .���/ ���

��'� 1� �'(  �): (cg��B Q ��dZ�� ���6� ��'3 X�
 �'( A�'8� �-����'� =�� ���� * � ����$ ���. 

��
�:  mm/s ��/�  = dh/dt    �  m/s ��/�  
  

����  �3 #$���)< �* � 
kg/m lll = ρρρρ���* ����   ��Q�{ �* ��L %""��   �'3 #$ .$ �� �H ����

�* ���)< 
kg/m !" " = ρρρρ���� ���R  .����H �'3 #$ �* ��3 #$�� ��1��� ���* 1� � ��3 i'F9�  ���� .

 ��3 #$ �*� ���L/s !* �� ����1 ��3�* � ���)< y�8\� .$ �� �H ����$ ��� ��3 #$ � i'F9�  �*E" 
� �'3 #$ ���)< y�8\� �2��#$ �*�� I(�H ��3 .  

  

����   ��Q�{ �* ��P9� �* �'( �'��|YH 
m !"��� C78�  . 1� .P9� �* ����� ��'( ���/ �*�

�5*�� � ρρρρ0/ρρρρE/"=&m�� ��0MB  .$ �� �H �NHρρρρ0����� ���)<  �  ρρρρ  .P9� ��'( ���)< �+G� �( ��

��� . ���)< �������� .P9� �� �'( �  kg/m % = ρρρρ0�� �'] �H ����1 ��� ��3�*  �B ��H ��'( ���)< 
* �� ���� �*��* �� .P9�� ����$ ��� .�* .P9� �� �'( ���)< �H ��NH X�Q ��� �\�'N�� ��'2.  

��
� :  s ��  
  

����  ��'� �� #$ .���/  �5R �* ��mm `" ���R�* 
��� .�?8�� ��� =����'�  ��1�� 
�  �* #$ � ���� ���R

�� �W
YB$ �P��. S56� �� �-�� S�1'B )! ( �\�'N��
3 X�Qm� ���6� � ��m�* S56� =�� �� ���Q � �-� V�B�B  

 m/s ^ � kPa :""���  .��1�� �/��\ �� #$ �-�� ] S56�)% [(���6� � �\�'N��  .$m/s !E���  .
���6� h�- ����� CY0���6Q� ��'� �* #$ .���/ y�] 1� �H �� ����  * �� �'3� ����$ ���.   

  

°�E= θθθθ  

Q 
h  

h  

m ^"/
"  

):( 

mm ^E =  D 

m/s `/! =  V 

) ( 

mm E" = %D 

m/s E/! = %V 

)%( 

mm ^" = !D 

 m/s%/  = !V 

)!( 

m/s ^ = !V �kPa :"" = !p 

 

)!(  

)!(  
)%(  

)%(  

mm `" = !D
m/s !E = %V 
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 � ���� � %� 	�   �-�� �* #$E �'��1 
� �� ����b �* �8� l" �5R �* � �/�� %E�8���   �8�/ .���
���� . '��1 �* ���� �� #$ ���Q ��� E–=�� �� ��3�* �����Z'F�H  ���� ��'2� ��8��� �� #$ �H �
U�� ���� '��1 �* �H� >��� =B'�� �N< ��NH  
!(  E/k"^–  %(   ^/:l"–   (   E/k"^  :(   ^/:l"  

��
� :  ����   !)
(  
  

 � ��	� � �� ��   S56� �� �( �� �M
� ���Q ��NH X�Q! 
 �%'��1 
� �� ��1 C�3 � �6Q� �)�GW2 
� ��(��� .�
�� � .

'��1 �� ���� .���/��8�
��� ����� � ρρρρ �*� �Q �-�� � V 
�� �3�* .[5�  ��'� S56�A���  .� ���6��* ���� ���� ������?)� �(  

�?/ �)� '��1 ����� >��� K��H �'\ CG� �� �)C6b ����� 1� y�2 ����� �Q� � ��NH �+�(  
!(  pA     %(  ρρρρQV%    (  ρρρρQV+pA%   :(  ρρρρQV%+pA%   
  

 � ��
� � �� ��  �� C�3 ��*� �� 1� #$ ��1 
�����  ��N?Z �* �� ��U �� �8�  ��� �'M-. �����  ���� �6Q�
�� �*�m�mm* �m*��m�� �m* �m� ) m/kg !""" = ρρρρ� %s/m !" = g(:  

!(  N  """"       %(  N :"""      (  N %""""     :(  N %^"""  
��
� :  ����   !)�(  

  

 � ���� � %� ��   �-�� �* #$ �/ 
�s/m  /^���(� 1�  
� � �5R �* �1�� mm E"�*   ��'2
6Q���GW2 
� �* � ��3 r��\  R .$ C*�6� �� �H ��'Y- ��� ��'\�* ����� ��� �NH . �* ����� �����

�GW2 >��� =B'�� �N< ��'Y- �  
!(  E:/!     %(   E:/E%     (   "/k`    :(   "/!%E  
  

 � ���� � $� ��  �GW2 �* �NH�� �1�� 1� #$ .���/ �C�3 @*�5�  �H1�� �
�� ��'\�* �NH . #$ �/ �-��!E �1�� S56� [5� � ����b �* �8� "!/" S*���8� 

�� 3�*� . >��� =B'�� �N< �GW2 �* ���� �6Q� �����) m/kg !""" = ρρρρ(.  
!(  ! E"  %(   !`E"   (   %%E"  :(   %`E"  

��
� :  ����   !)�(  
  

 � ���� � �� ��  ���'Q C�3 @*�5�  �5R �* #$ �D �-�� � V�8�   i��9� 
� A�'B ����b�*
����1 �* ���52� .��* � �� �°^"�� y�GN� �/��  ���� . �N�$�* �< .���/ y�] 1� ���� ��(����

�� ���6�  >�3�*)#$ w'79� K�/  ρρρρ��  y�2 .���/ ��
� �� K'R� ���eB 1� � �3�*  �+� ����(.  

m !  
m %  

m E/"

m/s ! = V 

D 

D 

D 

)!(  

)%(  

������?)� �( 
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!(  %
D
%

ρρρρV   %(  %
D
%

ρρρρV !"E/"  
 (  %

D
% 

ρρρρV l /"  :(   %
D
% 

ρρρρVk`E/"  
  

 � ���� � �� ��  ���� .���/ ���e8� S56� �* ��'� 
� �� ����� . S]�6� �� ���� �-��AB  �
CD�*   V�B�B!V � %V�* S]�6� =�� �U�
� �   V�B�B!A � %A ���� �YLU �*� � Q��  �3�* . ���eB }��

>��� K��H �'*P� S]�6� =�* ���� K'8NY�  

!( ( )2 1Q V Vρρρρ −      %(   ( )2 2
2 1Q V Vρρρρ − 

 (   ( )2 2 1 1Q A V A Vρρρρ −    :(   ( )2 2
2 2 1 1Q A V A Vρρρρ −  

��
� :  ����   !)	(  
  

����  ��1�� 
� 1� �/��\ #$ �/ .���/� �-�� ����� m/s !" 
 �5R �mm %"���  .�GW2 .���/ =��  K�/ �* ��kg %�F2�Q �� ��   �h 

�)� ��� �83�� .�F2�Q ���6�  �h��NH �M��G� �� .  
  

����  *$ �/� .$ ��
� � ���H ��'\�* �'F* 
� �* 
����1 �GB  �° "� �� y�GN ���� . ���/ �*� ���6�

kg/s ! �/ �-�� � m/s !"���  . �'F* K�/kg ! 
��� .V��a ���6�=��1 � �'F* ���52� )  �M
������  

���52� �* h�- ����� �R CY0���c( !/"���  .�� ���� �'F* �* #$ �/ �H �6Q� ����� ��� �NH 1� 
������* O��3 �'F* ��'3 �8��* ���52�  �� �H�U �NH.  �H�U �'F* ��$ �H ��NH ~9�� �LN�� ��

\��H �(�' .y�2 #$ .1� 1� ��� �*�b ��
� �'] �� #$ �/ �-�� �H ��NH X�Q � ��NH �+�.  
��
� :  &'( )*+, $
-. /�*.  

  

 � ���� � $� ��  ��1� � �GW2 ���1 C�3 @*�5�  �
 ��� .���/ 1� ���'Q ��� � ��'* ���0B ��U �� ���H .$

���� ���R #$ . �� =�� .1� CH ���N `%E �-�� ��3�* 
���'Q � >��� ��6< #$ ) m/kg !""" = ρρρρ(.  

!(  m/s E/!"    %(   m/s E/!!    (   m/s !E    :(   m/s !/!k  
  

 � ���� � %� ��   >��� K��H VF2 c
/ ���0B i�3 ���1 C�3 �* �/'B �*)%ρρρρ = !ρρρρ(  

!(  1
1 2

2

 
=  

 

d
Q Q

d
  

^"° 

D 

C 

A 

D 

B 

%A 

%V 

!A 

!V 

h 

�u m/s 
tu

%Q  �% ρρρρ !Q  �! ρρρρ 

%d !d 

W 
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%(  1
1 2

2

2
 

=  
 

d
Q Q

d
     (  

2

1
1 2

2

 
=  

 

d
Q Q

d
    :(  1

1 2

22

 
=   

 

d
Q Q

d
 

��
� :  ����   !)	(  
  

 � ��	� � �� ��   �5R �* �1�� 
� 1� #$ .��'Qmc "% �-�� �* s/m  "� PH�� �*  �GW2 

��R�� ��'\�* c �NH . ���R'Q �Y
R �� �GW2A��� ��3 �'� C�3 @*�5�  .�* �GW2 ��N�� ���*  ���U
�R��� ��'3 �83�� �)� cm ���FB�Z ��?8�� �* ���� ����� =�m�  

�3�* ���* =B'��'F�H �N< ) m/kg !""" = ρρρρ� %s/m !" = g(.  
!( %`/^=B'��'F�H     %(  ^%/` =B'��'F�H   
 (  E^/!%=B'��'F�H    :(  ! /%E=B'��'F�H   
  

 � ��
� � �� 	�  ����� S56� �* �'( �/  �5R �* ��
!/" �* �8� �]��9� c
/ �� ��'\�* C�3 �NH . ������

 �*��*N !E/" = F�]��9� c
/ �B ��� K1�   �� C�3
���Y* �R�* �'\ ��/ . �/ �-�� ���m/s  " = V �*�b 

�]��9� c
/ K�/ ����Y* K��'F�H �N< C�3>���  
) �'( ���)< 

m/kg % /! = ρρρρ� %s/m `!/l = g(.  
!(  !`/"        %(   !"/"       (   : /"      :(   %%/"  

��
� :  ����   !)
(  
  

 � ���� � $� �	  *�� C�3 ��� >��� ��6< �GW2 �* ���� y�] 1� ���� �6Q� ����� ��  

!(  "ρρρρQV %/!      %(   "ρρρρQV   

 (   "ρρρρQV %      :(   "ρρρρQV : 

  
  

 � ���� � �� ��  �GW2 �� ����� �� �� �M� �C�3  �
 �5R �* �P�BE�8���  ��� ������ ��M0B .$ PH�� �� �8� .

*$ �/ �*��* �8-�� �* �m/s  " �5R � cm !" .$ �* 
�� ��'\�* ���Y� .�)� �*�b �?/ K1� �����  �GW2 =83��

 =B'��'F�H �N< ��'\ CG� ��)kN (���>  
!(  kk/!      %(    /E       (   "k/k      :(   `:/`  

��
� :  ����   !)
(  

cm 
%"  m/s %" = V 

FB 

h 

A 

B 

^"° V 

V 

V 

m  !/"  

F 

V 

cm E  

 �GW2

V 

"V � Q 

"V � %/ Q 

"V � %/ Q 
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 � ���� � �� �	  �*��* �79�� � �*�b �*�&m* �� �
�� ��'\�* S��� O'� �NH . �M
�FA/FB >��� ��6<  

!(    m/s           %(    m/s           

 (     m/s           :(    m/s %           
  

 � ���� � $� ��   C*�6� ��'�� �* �/ .���/ 
� ��1 C�3 ��
�� ��'\�* �NH . S]�6� �� �-�� ���! �% �   �b� 1� � ��'* ���
� 

y�2 C6b #�83 �'3 �+� � d 1� �0*�B .�'N- �* !b � θθθθ�� K��H  >�3�*  
!(  )%/!b( cosθθθθ =  d   %(   )cosθθθθ x!(!b =  d  
 (   )cosθθθθ+!(%/!b =  d  :(   )cosθθθθ%x!(%/!b =  d  

��
� :  ����   !)�(  
  

 � ���� � �� ��   C�3 ��C*�6���Z A�'B ��'� ��7B�  �(� � C78� ��'� �*
��3��� . S56� �� #$ @F5� ���Q )!(�*��* �*  !:"'F�H  �����Z�� �3�* �� � 

 S]�6�)% ( �)  ( �W2 �M
� ���Q �* #$) @F5� ���Q!"!�����Z'F�H  ( ��1$ ��'( �*
�� ��F9B �'3 .��'� S56� [5� �(pF89� S]�6� �� 1� �NB��M- : %m "!/" = !A �    

%
m ""E/" =  A = %A . . S]�6� �� #$ �*�)% ( �)  (*��* � ���
� �)���� �*m��*   
":%/"�� ����b �* V0�� �8�  �3�*.��Z �* ���� �����  �* ��� �*��* �()  

m/kg !""" = ρρρρ� %s/m !" = g(.  
!(  /%lE=B'��     %(  ^/:`:=B'��       (  ^/l%^=B'��     :(  ^/!k"^=B'��  

  

 � ���� � �� ��   ��'\�* �)���� �* #$ �/ ���'Y� � �
�<��|�� �/ 
� �� ��79�� @*�5� �� �� ��L�� C�3 �� ��3 ��

�� �NNH . �N< C2�U �/ �-�� ��'2 =�� ��m/s>�'* �(�'\   
!(  `%/     %(   %l/:     (   k /E    :(   %!/k  

��
� :  ����   !)
( 
  

 � ���� � �� ��  ��� ��1 C�3 ���}�< ����� ��3 ���� .��� C �� ���52� .��* ��( � �N3�*  
�� �?�$ cH��B ���� ��� .���/ �� ���dZ�� . S]�6� �� ���Q

����� �� �W
YB$ ���Q �* �*��* �/��\ � �3�* . =�� ����N<
���� ��N��Y� �H�U ���� � �< y�] �* �����1$ �N��'8* C
K��H ��� =�� 1� 
���� �H�U ���� �Y� �* C �NNH.  

FA 
°^"  FB 

% 
   

  
 % 

% 
 ! 

!b 

 d 
%d 

θθθθ    

)%( 

)!( 

��Z �( 

) ( 

 "° 

 "° 

θθθθ    

°l"  

m/s : = !V 

m/s ^ = %V 

m !%/"  m !"/"  

 V 

)#( )p��( 

)�( )r( 
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!(  )# ( �)r(      %(  )#( �)r ( �)�(  
 (  )p��( �)# ( �)r(    :(  )p��( �)# ( �)�(        
  

����  2 
��GW �'B � ��'� �� �N���  .$ �� �H ��3 V7� ��
 .���/��� ���R�* �'( . ��'� �5Rm ^/" �-�� �a�Q S�1'B � ��� 

6� ���Z � �����* S]�6� �� ���Q ����=� ��� ��3 ���� ��'B ��� .
 �-�� ����\�'N���� �* S56�  ����m/s  "�3�* 1� �   ���52�

y�2 �'3 �+�B �* ���� ����� ���6� � �� ��'*� ����$ ���.  
��
� :  N ��
  

  

 � ��	� � �� 	�  ��1�� 1� ��* .P9� �� �*� �* #$ �s/ m ":/" �* 
��Z .P9���R �-�� �* �N� cm/s k/k�� ��'\�*  �NH.�B�'2 ��   �U�
� �H

�Z .P9� pH� �* �*��* � �*�b .$ C\�� S��� O�WB�� � S*���8� 
� �N� /" 
 �8���Z .P9� ���\ .1� �N� �`""�1���� ����� ��3�* =B'��  ����  A�'B ��3

 ��1��BA�� =B'�� �N<  �3�*.)  
m/kg !"  = ρρρρ� %s/m !" = g(.  

!(  :"E!      %(   El^         (   ! "`      :(  %l:  
  

���
  ��'� �� 1� C��8� �Y8
�� �� #$  C�3 @*�5� ��� �
.���/����  . �*� I��PQ� ���6� � ��� ��e8� c8
�� =�� �� �*�
L/s/s %/ ��� ����b ��  . �� �+G� 
� �� �-�� � ���Q ����6�

��� ��3 ���� C�3 .h�- ����� ���6�  ��'� �* #$ �H �� CY0��
�� ���� * �NH� ����$ ���. y�2 ���52� 1� ��NH �+�.  
��
� :  N ��� 

  

����  #$ �/* � �U�
� %
 mmk""  � �-��m/s %"�GW2 �*  � 

��'Y- �H �-�� �* m/s EP�� �� �H�U �/ ��8��� ��  �NH  ��'\�*
�� �NH . #$ �*� ��� S]�6� ��)! ( �)% (�* V�B�B �M
� �* 
� � �� �* 
���
6B �� �* mc �� ��'3m����6Q� GW2 �* ���� mm* �� �� ����$ ��� . 1�  

y�2 #$ � �'( ���52� ��NH �+��� �*�b P�� y��G�� 1� hZ �/ �-�� �H ��NH X�Q �  ����.  
  

����   ��T� ���*) x!:(�h�- ����� ���6�  * ���� CY0��* �� ��Z �� ����$ ���.�� �/ �U�
�     
%

m ""!/"����)* �+��� .  

��
�:   kN
�
  

 S56�)�( 

p%  = % kPa 

 S56�)�( 

kPa   = !p  

 m/s  " = !V  

��'B 

D = ^/"  m 

m ^  m    

mm !""  mm %""  

 S56�)�( 

kPa k" = !p  

 m/s   = !V  

 S56�)�( 

p%  = "  

m/s k/k = V 

A 

m  /"  

m/s E =   u 

°^" = θθθθ 

m/s %" =   Vj 
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 � ���� � �� 
�   �-�� �* #$ ��1$ �/jV �6Q� �?/ �� )x ( .$ �* �'Y- =H�� [5
� ��Z �*
�� ��'\�* �NH . �-�� �* ��Z ��� ��UVj�*  H �H�U �/ �Y� �?/ �� ��Z �* ���� ����� ��Nx �M
� 

>���� �8�0a� �< CMR ���U �*  
!(  �*��* ��(        %(  ���
�  
 (  �*��* ��?<        :(  �*��* ��      
  
  

 � ���� � �� ��   �-�� �* #$ �/jV S56� [5� � jA �-�� �* �H �F�M�'B� �* 0V ��U �� 
�� ��'\�* ��� �H�U �NH .�* ��3 ��Y-� �����  1� C�M�'B� �-�� .���� �*�b X�Q �* �/ y�]

C�M�'B� �* ��� �*��*:  
!(  

VjV0ρρρρAj        %(  Vj(Vj–V0)ρρρρAj  
 (  ρρρρAj

%
 (Vj–V0)      :(  Vj(Vj+V0)ρρρρAj      

��
� :  ����   !)�(  
  

����   �-�� �* #$ �/m/s  "��Z �*   ����NG�� � �H
�GW2 �� � @Q� ���� ���R �� ��'\�* �NH . �-�� �* P�� ��Z

m/s !E �H�U �� ��� .����1  �*��* #$ �/ r��\ �
°^"���  ..�'B ���6� ����Y* �*�b �/ S56� [5� ��� ��Z   

 �-�� �y�2 #$ � �'( ���52� 1� >��� ��6< #$ �/ �/��\ @F5� ��NH �+�. 
  

 � ���� � �� ��  [�G7B V��a �C*�6� �-�� S�1'B �� 
��NNH  K'8NY� �)ββββ (�<  >��� ���6�)�GW2 �� �- �* �1�'� � Xw(  

!( ! = ββββ    %(    = ββββ      (  % = ββββ      :(    = ββββ  
��
� :  ����   !)�(  

  

����   
� �* #$ �/��� ��'\�* �*��  � �NH�� �-�*  �B �'3����� #�83 �*��.hZ #$ �/ ��
�  1� 
��R ����1 �* ���'\�*�� y�GN� c ����.}�< � �'( ���52� 1�   ��(�y�2 �*��  ��NH X�Q � ��NH �+�

 �-���*���� �� ��� �W2 ��8* . #�83 �H ��(� .�����5*�� A�'B �*�� * ��1 �� �� ��� ��$ :  
  

( ) 1
  

= − −  
    

c
j c

j

VQ
a V V

M V

ρρρρ  
  

.$ �� �H ρρρρ �#$ ���)< VjAj = Q�*�  �Vj � Aj�*   �#$ �/ �U�
� � �-�� V�B�BM K�/ � � �*��Vc 
� �-����� �+G� �( �� �*��.  

Vj 
M 

Vj 

x 

m/s  " = !V 

%
mm k""  =!A 

m/s !E = u 

°^"  

°:E = αααα y r 

u 

  
 : 

  
 % 

Aj 

Vj V0 
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����  ��'� �� #$ �� .$ ��?8�� �H ��� ���
� �U�
� �* %
m "":/" ���� .���/ � �� ��'� �Q��3 

�*  O�WB�� mm ^ X�- � m E/%��� ��3 ��M0B  .�� r��\ �GW2 �* �'Y- y��3 =�� 1� #$ .���/ �'3 .
 ��'2 �* y��3 1� �/��\ #$ �-�� S�1'B��� �TFT� . #$ �*� ���L/s  " �)N� ���6� ��3�* 

���B  �'G� �'U ���MxM* �� � �����$ �� .  
 

  
  
 

��
�:  N.m 	�	�  
  

���	   ���/ �*� �* #$kg/s l/"#$ ����  �� ��Z �'3 .
����� �*��* �N !E#$ ��1�* ��8��� �* �'Y-  �F2�Q �* � ��Z  �
mm `"�� ���� .$ I\�< PH�� 1�  #$ �B �'3  �� ��Z
�* ���� �)� �H�U .#$ �1�� �5R ��� ��Z mm ` ��3�*  ���6�

����1  �θθθθ �� #$ �� �H �� .$ ��1�* �* ��Z >��� ��6< �1�� 
  

���
  ��Y3��� ��3 ���� .��� C�3 �� .'8FZ =�*�'B 1� � . ��
��Z ��?< =�*�'B =�� ��*���  ��3 ���� ���R =�*�'B A�G� ��� �* 

��� .�* =�*�'B I\�< O�03  A�'8� �']m  /"� ��� ��Z   .���/ �(
�1���� �* �� �����  �°! E�� y�GN�  �NH .����� �/ �-��  #$

m/s  "R � m .$ �5mm  "��� . �B ��mGW2 �� =�*�'m� 6Q� �m���R � 

 ���6� �< ��N�� ���eB ��Z 1� �d� ��
� �� �/ �-�� � �3�* �83���)N� I\�< 1� �B ��� 1��� ��'� 
>�'3 ����'F/ =�*�'B 

��
�: N 	���  
  

����  �*$ =�*�'B 
� ���� .��� C�3 �� 
H ��� ��3���0B .$ A�G� ��� �*  ���R ��Z ��

����.#$ .���/  �-�� �* m/s !E = !V �* � 
����1  �° "�� ��'\�* ��Z �*   � �NH h|� �*

 �-�03 ��'2=�*�'B PH�� �*�� ����(  �'3 .
 =�*�'B ������ �-�� ���6� ��� " �� ��� 

>��� ��6< =�*�'B .�'B ���6� ��3�* �6�R�  
  

m/s !E = !V 
° "  

 m ^/" = !r 

 m  /" = %r 

%V 

m  /"  

m  /"  

θθθθ    
�u mm 

N !E  

mm  %"  θθθθ    

m  /"  °�tE  

m/s  " = V 

mm  "=  D  

��* 1� ��� 

�-�� S�1'B 

 1� ����*�� �� 

y��3 

C D 

M 

M 

m E/%  m !  
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 � ���� � �� ��  1� #$ ���� .��� =�*�'B 
�*� �* C�3 �� ��3 s/ m  ^/"��   �� ���Q � ��d�

 i�6�A � B�*   V�B�BkPa !E"�  kPa :"−��  �3�* .
��'� �5R ��� ��3 ���� .��� C�3 �� P�� �( . ���6�

 ��6< ���'F�H V
U�* =�*�'B ��������( .�'B
�� >�3�*)  

m/kN !": = #$γγγγ� %s/m !" = g(.   
!(  ::        %(  ^%         (  k^      :(  l!  

��
� :  ����   !)�(  
  

����   =�*�'B ���� .P9� 
� 1� #$
�� �'3 . �3�* ��B'H ��6�$ ��'� �'] ���

y�2 .$ �Q� 1� .�'8* �H  ���H �+�
�5*��  ���* �� �* =�*�'B �TH��U .�'B ���6�

#$ ���)< V
U ρρρρ ��'� �5R �D O�WB�� � 
 .P9� �� #$h* � ����$ ���. 

  

 � ���� � �� ��  *�� C�3 =�*�'B �* ����� �-�� �H �B�'2 ���  ��s/m ^ �/��\ �-�� � 
m/s %�* �/��\ � ����� �� ���Q �   V�B�B!E: � %"–y�2 �* ��3�* �����Z'F�H   ��68�� 1� .��H �+�

 ��'M- �*� >��� ��6< =�*�'B �* ��3 ��Y-� .�'B �����U%"" ��� ����b �* �8�� ) m/kg !""" = ρρρρ� 
%

s/m !" = g(.  
!(  kW %"       %(  kW  %  
 (  kW  `      :(  kW :" 

��
� :  ����   !)�(  
  

����  �� 
� ��  �� ��3 ���� .��� �(��
 �C�3��'� �� #$  ���Y3 �)!( �-�� �* m/s E 
 ���Q �kPa l:"���� .���/  . � �-�� ����6�

��'� �� ���Q  ��()% ( �) (P��  ���� .��� C�3 �� 
��� ��3 .B ���6��� =�� �� ��3 pFB .�'  �(��

�GW2 �� �H >��� ��6< ����� ���R @Q� �  
  
  
  

D 
12.3
4 

h 

!V 

%V 

m !  
=�*�'B  

)!(  )%(  

) (  

 m %`/" = %A 

kPa !!:" = %p 

 m :/" = !A 

kPa l:" = !p 

m/s E = !V 

 m !`/" =  A 

kPa Ek" =  p 

m/s ^ =  V 

m !  

=�*�'B  

mm  ""  

mm ^""  

A 

B 
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 � ���� � �� ��  �56� �� ���Q  �A �kPa !" �� � 
�56�  �B �kPa E/!!���  ..���/ �?/:  

!(  ����� �'/� �����/.    %(   �Z �Y� �*���� =�.  
 (  ��� ��* �Y� �*.  
:(   =��0B �K1� ��-�]� .�'M� �Q�H C��� �*�
�� =�Y� .$.  

��
� :  ����   !)
(  
  

����  � c8
�� �� ����� �( �Q� ���6
������� .  �*��* C�3 �� ��3g%/%V:���  .

 =�*�'B �'G� ������ �-��rpm %:" 
��� .���'B .�'B ���  �� #$ A�'B ��3

 =�*�'BkW kE" � m l" = H� ��3�*  ���6
< =�*�'B �'G� ���8�� � �mm*�6mm�>��� �  

  

 � ���� � �� ��  ��1 C�3 ��m !""" 
= L ���'� �'] mm %"" = D .���/ ���'� �5R 

 �*� �* �*$Q�Z �* ��* 1� ��� �H�U =� ���Y� .
�B�'2��  �� �|YZ �HA �*� .�Y( �* � c�(� ���R 
 �� #$  ����� �c�NH ��|YZ ��* �Y� �* �U�� ��

YZ �H .1�m #$ �* ��m�  �(�)hp (6<m>��� ��  
 =�� ��
������ �8Q�� �+��� ���52� 1� �3�� ����� ��WFB �Q� A6Q  �'3.  

!( %E�8�     %( %"�8�      ( !E�8�     :( !"�8�   
��
� :  ����   !)
(  

  

 � ��	� � �� ��   ���� .��� .'W�� �� �0���
���� .���/ �C�3 �� ��3 .y�2 �*  �( 1� .��H �+�

@F5� ���Q ���
� �� ����� �Q� ��'��56� ��   �A*  �*��
K��H  �*��* CG� �� �'( ���Q >��� ��1 ����6� 1� 
�

pa S��� w'79� .1� � �����Z γγγγ�* =B'��   �(
�� V0���8� �N3�* .��� �*�b .'W�� �5R.  

!( pa–γγγγ      %( γγγγ `/"          γγγγ kE/" – pa    :(  γγγγ `/" + pa 

  

A  

m !"  

B  

=�*�'B 
m   = D 

V H 

m !"  

A 

m kE/"  
A 

m "/!  

m `/"  
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 � ��
� � %� 
�   �� ����� �Q� C*�6� C�3 ��
 �N< ��7B� 1� ����d� ����J/kg�* ��7B� >���   ��'2

��� �8Q�� ���R �6Q� .�8�
��� ���� �   kg/m !"""  = ρρρρ 
��� . �(���Qgauge��  �N3�*.  

!(  "      %(  %       (  %"      :(  ::  
��
� :  ����   !)�(  

  

 � ���� � �� ��   ���R�* .'W�� 
� A�'B ��P* .P9� 
� 1� ���� .���/ C*�6� C�3 ��
��� .y�2 �* �Q� 1� .��H�+� �(�* �/��\ .���/ �*� � �-�� ��0a'� � ��'] � �* ���*��* V�B�B:  

!( m/s %/!k = V �      L/s E:"  = Q 

%( m/s l/!` = V  �  L/s E/El   = Q  

 ( m/s %/!k = V  �   L/s !! %  = Q 

:( m/s l/!` = V�       L/s E:"  = Q  
  
  
  

 � ���� � $� �	  �WN� ���Q ��� ���1 C�3 .'W�� ���* 
 �� 1�L�B �WN� �*��* ^ �N< .'W�� �*� �TH��U ��3�* #$ �8� 

y�2 ����� �Q� 1� >��� ����b �* �8�� �'3 �+�) .%
s/m !" = g(.  

!(  !""    %(  %!^  
 (   !:    :(  :%"  

��
� :  ����   !)	( 
  

 � ���� � $� �	  ��'� �� C�3 .���/ �  ���1
#$ �8� V
U �* ����� �Q� � .���/ �?/  K��H

� >��� .���/ �*%/"��� ����b �* V0���8� .  

)%s/m !" = g �  
m/kN !": = γγγγ(  

!(  �* .���/ �Z y�]� ����� �Q� �=�^/"�8�   

%(   �* .���/  y�]��* ����� �Q� �^/"�8�   

 (   �* .���/  y�]��* ����� �Q� �%/!�8�       

:(  �* .���/ �Z y�]� ����� �Q� �=�%/!�8�   

m    

m !E   "" φφφφ %"" φφφφ 

m "/!  

B  

A  

m %/" = D 

Q 

! 

% 

%m/kN E" = !p 

%m/kN  " = %p 

%m !/" = !A 

%m "E/" = %A 

m % 

cm E = D 

kPa E" = p 

cm !" = D 

kPa !"" = p 

m/s %  
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 � ���� � �� 	�  �3 �� ��� ��+� O�WB�� ��1 C
pFB �����  S56� �B ��3A ���0� g%/!

%
VE ���0� �1�� �� � 

g%/!
%

V"E/">��� ����b �* �8�� �N< c8
�� �*� ��3�*  

) y�2 �-�Q ����� �Q� 1� ��3 �+�(  
!(  %/ !  %(   l/%^    
 (    /%   :(  :/!E  

��
� :  ����   !)�( 
  

���� �)�� ��P9� �* .P9� 1� �YZ 
� A�'B #$�� ��|YZ  �'3 . ��'� �� ����� �( �Q� ���6�
�5*�� A�'B  �g%/%V%" �� .��* .$ �� �H �'3V��� ��'� �� .���/ A�'8� �-��  .�5*��  �*� =�* �

 �� �YZ �( ����'Y���� ��3 ���� .���  . ��'� �5R ���mm !E".���/ �*� ��3�* >��� ���6� �<   1�
�Q� y�2 �0a'� ��( �� �+� �'3. 

 
 
 
 

                          �YZ          
  
  
  

 � ���� � $� �	  C�58
� ����H ��  X�- �* ��1 C�3
!" �Q� 1� >��� ����b �* V0���8� �N< .���/ �*� ��8� 

y�2 ����� �'3 �+�) .%
s/m !" = g(.  

!(  !!     %(   !`      (   %%^    :(  %`!  
��
� :  526����  7� ��/8 �6 

  

 � ���� � �� ��   �� �*� �TH��U ��L�� ���* �C�3 �� ��3 ���� .��� �*�b �5R �* .'W�� ��
����1 �c8
��  �θθθθ�* .$ �� .'���8���H �H ��NH =��0B ��'] ��  ����� �'/�) . �'] �U�� �Q� ��NH X�Q

 �*��* ��'�g%/%V "!/"y�2 �0a'� ��( �Q� ���� 1� � ��'*  �+� 

H��N . �W
YB$ ���QkPa !"" #$ ��9MB ���Q � kPa  ��  �3�*(.  
!(  ° E   %(   °:E  
 (   °EE   :(   °l"  
  

m  `  
mm E" = %D

A   

mm !E"=  !D 

m %  
m `  

m "/%  

m "/%"  

m "/   

 m/N l`!" = γγγγ 

θθθθ    
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